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gz | wg |gz|ag| ™ gz Wy | A ESS 25| Fx | 49
2 gAT A E 878-2 | 878-2 | & @ 82.0 82.0 82.0 R o] 33 A A
3 GAT A E 876-1 876-1 i ‘(r)r 1,180.0 1,180.0 1,180.0 =ty TENER
4 gAT A E 897-5 | 897-5 | & R 16,735.9 16,735.9 16,735.9 =ty TENER
5 gAT A E 858-14 | 88-14 | & = 67.0 67.0 67.0 =ty TEER
6 gAT A E 858-13 | 858-13 | = 202.0 202.0 202.0 =y TENER
7 gAT A E 858-8 | 858-8 | & = 344.0 344.0 344.0 =ty TENER
8 gAT A E 81-5 | 8615 | & | & 440 440 440 =ty TENER
9 gAT A E 855-20 | 855-20 | Al A 124.0 124.0 124.0 = TENER
10 gAT A E 858 858 = = 2.0 2.0 2.0 =y TEER
11 gAT A E 861-2 | 861-2 | & | & 16.0 16.0 16.0 = TENER
12 gAT A E 81-3 | 861-3 | & | & 6.0 6.0 6.0 =ty TENER
13 GAT A E 855-19 | 855-19 | Al A 502.0 502.0 502.0 =y TENER
14 GAT A E 857-5 | 857-5 %l %l 53.0 53.0 53.0 =ty TENER
15 GAT A E 855-18 | 855-18 | A A 1,205.0 1,205.0 1,205.0 R o] 33 A A
16 GAT A E 855-1 855-1 A A 53.0 53.0 53.0 = RN
17 GAT A E 854-8 | 854-8 | Al A 540.0 540.0 540.0 = TEINER
18 GAT A E 830-3 | 880-3 | & | & 4,326.0 4,326.0 1,739.0 R o33 A A
19 gAT A E 880-3 = 4,326.0 2,587.0 R o] 33 A Al
20 GAT A E 877-15 | 877-15 | # = 2.0 2.0 2.0 R o] 33 A A
21 gAT A E 877-16 | 877-16 | + = 18.0 18.0 18.0 R o] 33 A A
22 gAT A E 897-7 | 897-7 | = | & 1409 1409 1409 = TENER
23 GAT A E 897-6 | 8976 | &= | & 7,094.7 7,094.7 53155 R o] g A A
24 gAT A E 897-6 = 7,094.7 1,779.2 R o] g A A
25 gAT A E 895-2 | 895-2 | z+ 538.7 538.7 537.2 R o] 33 A A
26 gAT A E 895-2 z+ 538.7 15 R o] g A A
27 GAT A E 857-34 | 857-34 | # = 765.0 765.0 389.0 > o] g A A
28 GAT A E 857-34 = 765.0 376.0 R o] g A A
29 GAT A E 857-33 | 857-33 | A %l 122.0 122.0 122.0 > o] 33 A A
30 GAT A E 857-32 | 857-32 | A %l 31.0 31.0 31.0 R o] 33 A A
31 GAT A E 857-31 | 87-31 | A %l 64.0 64.0 64.0 = TENER
32 gAT A E 857-6 | 857-6 | & = 613.0 613.0 28.0 =ty TENER
33 gAT A E 857-6 = 613.0 585.0 =ty TEIER
34 GAT A E 857-4 | 857-4 %l %l 198.0 198.0 90.0 =ty TEIER
35 gAT A E 857-4 %l 198.0 108.0 =ty RN
36 GAT A E 857-3 | 857-3 %l %l 96.0 96.0 41.0 =y TENER
37 GAT A E 857-3 %l 96.0 55.0 = S ENEE
38 GAT A E 857-30 | 857-30 | A %l 4,816.0 4,816.0 2,226.0 > o] g A A
39 GAT A E 857-30 %l 4,816.0 2,590.0 R o] g A A
40 GAT A E 857-29 | 857-29 | w = 728.0 728.0 293.0 R o] g A A
41 GAT A E 857-29 = 728.0 435.0 R o] g A A
42 GAT A E 904-3 | 904-3 %l %l 632.0 632.0 632.0 = RN
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9T O HE 727.0 TEIEE
AT O HE 767.0 LENER
AT O HE 339.0 R aEI
AT O HE 418.0 TEINER
AT O HE 17.0 TENER
AT O HE 481.0 LENER
AT O HE 260.0 FEINER
AT O HE 147.0 TEINER
AT O HE 327.0 LENER
9T O HE 159.0 RIS
AT O HE 66.0 LENER
9T O HE 487.0 TEIER
AT O HE 226.0 TEINER
AT O HE 59.0 LENER
AT O HE 512.0 LENER
AT O HE 288.0 TEIER
AT O HE 851.0 LENER
AT O HE 7.0 LENER
9T O HE 6.0 LENER
AT O HE 717.0 LENER
AT O HE 54.0 LENER
9T O HE 2.0 STEAE
AT O HE 5,966.0 ol -3 Al
ES)

g9AT SYE | = 13.0 TEILEE
gA T S9E 1,271.0 RN
9T SYE 1,323.0 TEINER
9AT SYE | E 17.0 TEINER
9AT SYE 619.0 TENER
9AT SYE 871.0 TEINER
9AT SYE 362.0 TEINER
gA T s9E 470.0 RN
gA T S9E 10.0 S ENEE
gA T S9E 3,959.0 o) -3 S Al
gA T 9E 811.0 RN
9AT TYE 948.0 TEINER
9AT SYE 22.0 ZTELER
gA T S9E 321.0 RN
gA T 9E 926.0 £ S ENEE
gA T 9E 530.0 % o) -3 S Al
gA T 9E 374.0 + o -3 S Al
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18 gAY E 250-4 | 250-10 | & = 112.0 126.0 112.0 R o] 33 A A
19 g9t TYE 243-1 243-3 | A A 5,954.0 5,954.0 5,954.0 = TENER
20 gAY E 251-1 | 251-12 | & = 347.0 347.0 347.0 Ea o] 33 A A
21 gAY E 247-6 | 247-13 | W = 1,676.0 1,676.0 1,676.0 R o] 33 A A
22 gAY E 251-11 | 251-11 | & = 5.0 5.0 5.0 =ty TENER
23 gAY E 251-10 | 251-10 | & = 582.0 582.0 582.0 =ty TENER
24 gAY E 209-4 | 2094 | & | = 50.0 50.0 50.0 = TENER
25 gAY E 213-5 | 213-5 | & = 553.0 553.0 553.0 =ty TENER
26 gAY E 250-3 | 250-9 | & = 544.0 544.0 544.0 a o] 33 A A
27 gAY E 247-5 | 247-12 | &= | & 158.0 158.0 158.0 R o] g A A
28 gAY E 247-4 | 247-11 | & = 175.0 175.0 175.0 R o] g A A
29 gAY E 248-1 248-4 = = 222.0 222.0 222.0 > o] g A A
30 gAY E 248-2 | 248-5 | © = 478.0 478.0 478.0 R o] 33 A A
31 gAY E 486-9 | 486-33 | = 150.0 150.0 150.0 R o] 33 A A
32 gAY E 486-18 | 486-35 | & | & 52.0 19.0 52.0 = TENER
33 gAY E 486-7 | 486-7 | W = 1,137.0 1,137.0 1,137.0 R o] g A A
34 gAY E 486-6 | 4866 | = 364.0 364.0 364.0 R o] 33 A A
35 gAY E 486-4 | 486-4 | & = 410.0 410.0 410.0 R o] 33 A A
36 gAY E 486-3 | 486-30 | = 643.0 643.0 643.0 R o] g A A
37 gAY E 486-11 | 486-34 | ~ A 4,631.0 4,600.0 4,631.0 = TENER
38 gAY E 486-2 | 486-29 | = 553.0 553.0 553.0 R o] 33 A A
39 gAY E 486 486-27 | W = 837.0 837.0 837.0 R o] g A A
40 gAY E 248-3 | 248-6 | © = 612.0 612.0 612.0 R o] 33 A A
41 gAY E 486-8 | 486-32 | = 37.0 37.0 37.0 R o] g A A
42 gAY E 486-5 | 486-31 | & = 473.0 473.0 473.0 R o] g A A
43 gAY E 486-1 | 486-28 | = 778.0 778.0 778.0 R o] g A A
44 gAY E 485-6 | 485-30 | = 7.0 7.0 7.0 R o] g A A
45 gAY E 485-28 | 485-28 | & = 47.0 47.0 47.0 R o] 33 A A
46 gAY E 485-5 | 485-29 | © = 5.0 5.0 5.0 R o] 33 A A
47 gAY E 485-27 | 485-27 | & = 190.0 190.0 190.0 R o] 33 A A
48 gAY E 485-26 | 485-26 | T+ | T 39.0 39.0 39.0 R o] 33 A A
49 gAY E 485-25 | 485-25 | & = 363.0 363.0 363.0 R o] 33 A A
50 gAY E 485-24 | 485-24 | = 244.0 244.0 244.0 > o] g A A
2 A 35,225.0 35,275.0

1 GA T 95 E 449-24 | 449-28 | = = 396.0 396.0 396.0 = TENER
2 GA T 95 E 220 220 = = 121.0 121.0 121.0 > o] 33 A A
3 GA T 9T E 288-4 | 283-4 | © = 46.0 46.0 46.0 R o] g A A
4 GAT 9T E 219 219 = = 352.0 352.0 352.0 R o] g A A
5 GAT 9T E 435-2 | 435-3 | Al A 619.0 619.0 619.0 = T EuE N
6 GAT 9T E 287-4 | 287-4 %l %l 73.0 73.0 73.0 =ty TENER
7 GAT 9T E 107-2 | 107-2 | + | T 65.0 65.0 65.0 =ty RN
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GA T 9T E 284-3 | 284-3 | & = 640.0 640.0 640.0 = RN
g 95 E 292-3 | 292-3 | A A 1,977.0 1,977.0 1,977.0 =ty TEIER
GAT 95 E 2717-3 | 277-3 | & = 486.0 486.0 486.0 = RN
g 93 E 434-4 | 434-4 | A A 232.0 232.0 232.0 = TENER
GA T 95 E 275-3 | 275-3 | & = 305.0 305.0 305.0 =ty TENER
g 95 E 449-23 | 449-23 | = = 2.0 2.0 2.0 = TENER
g 95 E 272 272 o o 311.0 311.0 311.0 = TENER
g 95 E 303-6 | 303-6 | A A 5,148.0 5,148.0 5,148.0 =ty TENER
GAT 95 E 283-11 | 283-11 | & = 2,505.0 2,505.0 2,505.0 = TENER
GA T 9T E 276-3 | 276-3 | & = 637.0 637.0 637.0 = TEIER
g 95 E 273-4 | 273-4 | & = 460.0 460.0 460.0 =ty TEIER
GA T 95 E 271-3 | 271-3 | & = 286.0 286.0 286.0 = TENER
s i 303-9 | 303-9 S S 3.0 3.0 3.0 =t TENER
g 95 E 304-3 | 304-3 | A A 47.0 47.0 47.0 =ty TEER
GA T 9T E 305-5 | 305-5 =) =) 106.0 106.0 106.0 = TENER
GA T 9T E 306-5 | 306-5 | A A 139.0 139.0 139.0 = TEER
GA T 9T E 307-5 | 3075 | A A 198.0 198.0 198.0 =ty TENER
GA T 9T s 449-20 | 449-20 | &= | & 163.0 163.0 163.0 = TENER
GAT 95 E 420-1 420-1 A A 2,290.0 2,290.0 2,290.0 = TENER
gt 935 E 419-1 419-1 A A 1,001.0 1,001.0 1,001.0 =ty TENER
GA T 9T E 416-1 416-1 < A 565.0 565.0 565.0 = TENER
GA T 9T E 449-19 | 449-19 | = = 94.0 94.0 94.0 = TENER
g 95 E 460 460 A | 405,154.0 | 2,200.0 2,200.0 =t TENER
GA T 9T E 270-3 | 270-3 | & o 308.0 308.0 308.0 = TEER
GA T 9T E 269-8 | 269-8 | & = 117.0 117.0 117.0 = TENER
GA T 9T E 269-7 | 269-7 | # @ 54.0 54.0 54.0 = TENER
GA T 9T E 308-5 | 308-5 =) =) 255.0 255.0 255.0 = TENER
GA T 9T E 309-6 | 309-6 | A A 345.0 345.0 345.0 = TENER
GA T 9T E 311-3 | 311-3 | A A 5.0 5.0 5.0 = TENER
GAT 9T E 312-1 312-1 =) =) 228.0 228.0 228.0 = TENER
GA T 9T E 313-1 313-1 A A 116.0 116.0 116.0 = TENER
GA T 9T E 412-1 412-1 A A 83.0 83.0 83.0 = TENER
GA T 9T E 413-1 413-1 =) =) 594.0 594.0 594.0 = TENER
GA T 95 E 415-1 415-1 9 9 1,386.0 1,386.0 1,386.0 = TEINER
GA T 9T E 435-1 435-1 A A 314.0 314.0 314.0 = RN
Al 25,272.0 25,272.0

AL S| 741-6 | 741-6 | A A 588.0 588.0 76.0 = R R
AL S| 741-2 | 741-2 %l %l 1,455.0 2.0 2.0 = TENER
ALY S8 | 784-4 | 744 | = | = 230.0 230.0 230.0 = TENER
AL S| 740-12 | 740-12 | & = 200.0 200.0 200.0 = TENER

5 ChALS 28] | 740-16 | 740-16 | W = 619.0 619.0 619.0 = RN
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6 | AT AR F2rE]| 740-13 | 740-13 | o =y 22.0 22.0 22.0 =ty RN
7 | EAT A S| 740-10 | 740-10 | & = 33.0 33.0 33.0 =ty RN
8 |EAT YA S| 7406 | 7406 | &= | = 7.0 7.0 7.0 = RN
9 |EAT YA S| 740-14 | 740-14 | & = 295.0 295.0 295.0 =ty RN
10 | @A tAbs S8 740-11 | 740-11 | = = 2.0 2.0 2.0 = TENER
11 |27 oAb F38] | 580-7 | 580-7 | & | = 46.0 46.0 46.0 = RN
12 |98 Ak 538 740-7 | T40-7 | = | = 8.0 8.0 8.0 = RN
13 |- oAbS F38] | 580-3 | 580-3 | & | & 36.0 36.0 36.0 = RN
14 |G- dAbs 538 740-8 | 7408 | = | = 20.0 20.0 20.0 = RN
15 | @A Ak 58| 5804 | 5804 | = | = 47.0 47.0 47.0 = RN
16 |2 oAb S8 | 580-1 | 580-1 = = 244.0 244.0 244.0 =ty TR
17 |2 oAb 38| 579-6 | 579-6 | & = 1.0 1.0 1.0 =ty RN
18 | A oAby F32] | 580-8 | 580-8 | & = 1,691.0 1,691.0 1,691.0 =ty RN
19 |2 oAb 38| 579-5 | 5795 | & = 938.0 938.0 938.0 =ty RN
20 | @A oAb SaeEl| 579-7 | 579-7 | W = 384.0 384.0 384.0 =ty RN
21 | @A oAby Sl | 578-15 | 578-15 | & = 85.0 85.0 85.0 =ty RN
22 | @A oAb Sl | 573-3 | 573-3 %l %l 33.0 33.0 33.0 =ty RN
23 | dAT Ak S| 5736 | 5736 | = | & 150.0 150.0 150.0 = STEIFHF
24 12T AR S22l 5714 | 5714 | = | = 132.0 132.0 132.0 = RN
25 | @A oAby S| 573-7 | 573-7 | W = 17.0 17.0 17.0 =ty RN
26 | @A oAb Sl | 570-25 | 570-25 | & = 810.0 810.0 810.0 =ty RN
27 | @A oAby Sl | 570-7 | 570-7 | *+ | T 430.0 430.0 430.0 = FHUFAES
28 | @A tAbe Sl | 570-46 | 570-46 | = 506.0 506.0 506.0 =t RN
29 | g oAby S3E 806 806 =) A | 669579.0 | 3,745.0 3,745.0 =t RN
30 | @A TAbe Sl 741-5 | 7415 | A A 681.0 621.0 621.0 =t RN
31 | g by S3| 741-1 741-1 %l %l 1,758.0 1,758.0 1,758.0 =ty TR
32 | g oAb S| 582-1 | 582-1 LS Y 48.0 17.0 17.0 = STEIFHF
33 12T AR S8l 7419 | 7419 | = | = 84.0 84.0 84.0 = STEIFHF
34 | FAT ALy S3E 582 582 %l %l 2,491.0 25.0 25.0 =ty RN
35 AT AR S22 581-3 | B81-3 | & | = 68.0 68.0 68.0 = RN
36 | g AR Sl | 581-5 | 581-5 %l %l 782.0 782.0 782.0 =ty RN
37 | @I AR S0l | 740-15 | 740-15 | © = 66.0 66.0 66.0 =ty RN
38 | EAT AR Sl | 581-4 | 581-4 %l %l 3.0 3.0 3.0 =ty RN
39 | AT oAb Sl | 580-9 | 580-9 | W = 1,972.0 1,972.0 1,972.0 =ty RN
40 |FAT oA 38| 580-6 | 580-6 | © = 98.0 98.0 98.0 =ty RN
41 | FAT oAb F3E] | 570-41 | 570-41 | A %l 55.0 55.0 55.0 =ty RN
42 | ST oAb 38| 571-7 | 571-7 %l %l 36.0 36.0 36.0 =ty RN
43 |FAAT ALY S8 | 570-42 | 570-42 | A %l 40.0 40.0 40.0 = RN
44 | FAAT ALY S]] 781-26 | 781-26 | T+ T 312.0 312.0 312.0 =ty TR
45 | ST oAb 38| 571-3 | 571-3 %l A 295.0 295.0 295.0 = R R
46 |FAAT ALY F3E] | 570-27 | 570-27 | Al A 512.0 512.0 512.0 =ty RN
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ST oA S| 570-26 | 570-26 | Al A 116.0 116.0 116.0 = RN
ST A S| 570-28 | 57028 | & = 86.0 86.0 86.0 =ty TENER
gAT oAb 32| 570-6 | 570-6 | © =y 853.0 853.0 853.0 = RN
g9AT A S48 | 5705 | 570-5 | © =y 1,779.0 1,779.0 1,779.0 = TENER
AT OALS H3E) [564-114(564-114| %= | = | 17390 | 4220 515.0 = oA 91l
ST A S| 570-19 | 570-19 | & = 364.0 364.0 364.0 R o] g A A
ST A S48 | 570-32 | 570-32 | & = 1,278.0 1,278.0 1,278.0 R o] g A A
ST oA S| 831-4 | 831-4 > > 18.1 18.1 18.1 e TENER
9T oAb 32| 570-3 | 570-3 | & = 302.0 302.0 302.0 R o] g A A
ST A S| 564-38 | 564-38 | © = 301.0 301.0 301.0 = TEIER
ST A S| 564-36 | 564-36 | & = 791.0 791.0 791.0 = TEIER
ST A S| 564-34 | 564-34 | & = 933.0 933.0 933.0 = TENER
ST A S| 564-33 | 564-33 | = 669.0 669.0 669.0 = TENER
ST AL S| 564-32 | 564-32 | © = 630.0 630.0 630.0 =ty TENER
ST A S| 564-31 | 564-31 | © = 492.0 492.0 492.0 = TENER
ST A S| 831-3 | 831-3 | & s 1,203.2 1,203.2 1,203.2 = TEINER
ST A S| 564-30 | 564-30 | © = 498.0 498.0 498.0 =ty TENER
gAAT oA S]] 849-1 849-1 LS Y 6,009.5 6,009.5 6,009.5 = TEER
ST A S| 564-29 | 56429 | & = 509.0 509.0 509.0 = TENER
ST ALY S]] 564-89 | 564-89 | tff o 477.0 477.0 477.0 =ty TENER
gAAT oAb F3E 830 830 R R 422.8 422.8 422.8 = TEIER
ST AL S| 564-28 | 56428 | © = 402.0 402.0 402.0 = TEER
ST AL S| 564-27 | 56427 | & = 522.0 522.0 522.0 = TEER
ST ALY S| 564-26 | 564-26 | © o 246.0 246.0 246.0 = RN
ST A S| 564-25 | 564-25 | © = 731.0 731.0 731.0 = TEINER
ST A S| 564-24 | 564-24 | & = 1,020.0 1,020.0 1,020.0 = TEIER
ST A S| 564-23 | 56423 | © o 249.0 249.0 249.0 = TEIER
ST AL S| 564-22 | 56422 | & = 207.0 207.0 207.0 = TENER
ST oA S| 829-1 829-1 Ris Ris 2,143.6 2,143.6 2,143.6 = TENER
ST oA S| 564-61 | 564-61 | | T 49.0 49.0 49.0 = TENER
ST oA S| 564-21 | 564-21 | L= 421.0 421.0 421.0 = TENER
ST A S| 564-59 | 56459 | | T 48.0 48.0 48.0 = TENER
ST ALY S]] 564-20 | 564-20 | H L= 325.0 325.0 325.0 = TENER
ST AL S8 | 564-57 | 56457 | | T 25.0 25.0 25.0 = TEER
ST A S| 564-19 | 564-19 | & = 139.0 139.0 139.0 = TEIER
ST oA S| 305-19 | 305-19 | @ @ 279.0 279.0 279.0 = TENER
ST oA S| 305-18 | 305-18 | | T+ 70.0 70.0 70.0 = TENER
ST oA S| 305-17 | 305-17 | #@ @ 109.0 109.0 109.0 = TENER
ST oA S| 305-16 | 305-16 | 7 | T+ 47.0 47.0 47.0 = TENER
ST oAb 32| 305-6 | 3056 | © = 927.0 927.0 927.0 = TENER
ST A S| 306-15 | 305-15 | © = 29.0 29.0 29.0 = RN




- i il 5 A% e ] .
W7 wg| (M EPS 28| Fa | 4
88 | g ThAb 43.0 STEIFHF
89 | &I ThAb 13.0 RN
90 | & ThAb 1,021.0 RN
91 | & Ak 973.0 RN
92 | A oAk 156.2 TENER
93 | g Ak 632.0 RN
94 | GAT A 207.0 & - A Al
95 |G A 207.0 & - Al
9% |G A 207.0 & - Al
97 | G Ak 758.0 = RN
98 |G AL 1,543.0 & g Al
99 |G A 1,543.0 & - Al
100| ©4 T A 1,543.0 & - Al
101 @A oAk 204.0 = TEINER
102 @4 oAk 49.0 TEINER
103| @4+ A 644.0 RN
104 @43 oAb 396.0 TEINER
105 @4+ A T | & | 104441 o -3 S Al
106| @4+ A @€ " 838.0 RN
107 24+ A A A 99.0 RN
108| &4+ A A 00A 433.0 STEIFHF
109 B4+ A A A 133.0 STEIEHF
110 @43 oAk A 20.0 TEINER
11| &g oAb A 17.0 TEILEF
12| 2d < oAb A 17.0 TEILEF
13| g4+ A 172.0 STEIFHF
114 243 oAby 63.0 TEINER
15|24+ A 1,473.0 RN
16| 94w A = 243.0 TEINER
17| 943 A A A 366.0 = Ea
18| 94 A 9| " 113.0 e - Al
19| 943 gAY 88.0 & - Al
120| 94 A 65.0 & - Al
121|943 A 67.0 & - Al
122 @A oAb 119.0 Ea TEINER
123| 94 A 151.0 e - Al
124 @A oAk 212.0 Ea TEINER
125 @4 oA 145.0 £ STEIFHF
126| 94 A 85.0 & - Al
127| DA Ak 201.0 TENER
128| @A oA 139.0 STEIEHF




o
24

2fH olele] Ag

EE 24 e W3
A (m*) =4 .
129| &4 vARY 34 988.0 S EIEI
130 @A Ak S 142.0 TENER
131| &4 vARY 33 68.0 R aEI
132| &4 vARY 34 280.0 S ENE
133| &4 vARY 34 166.0 S ENE
134| 24T vARY F34d 48.0 S ENE
135 A Ak S 121.0 TENER
136| @A thAbg S 253.0 STEIFHF
137| @A A S 120.0 STEIF S
138| @A thAbg S 289.0 STEIF S
139| &4 vARY 3 49.0 S E N E
140| @A thAbg S 101.0 S ENEE
141|248 ARy 33 297.0 S ENE
142| 24T vARY 3 42.0 S E N E
143|243 oAby S =rEl 95.0 ZELER
144|233 Ay S =rEl 342.0 ZELER
145| 24T vARY 33 36.0 S E N E
146| &4 vARY 33 105.0 TEINER
147|248 ARy S 43.0 S E N E
148| &4 vARY 3 408.0 S E N E
149| &4 vARY 34 425.0 S E N E
150| @A thAbg S 216.0 STEIFHF
151 @A thAbg S 67.0 TEIFHF
152| &4 vARY 33 377.0 S ENE
163| @A thAbg S 126.0 TEIFHF
154| g thAbg S 507.0 TEIFHF
155| &4 vARY 3 45.0 S E N E
156| 4T vARY 3 63.0 S E N E
157 @A thAbg SE 248.0 S ENEE
158| &4 vARY 3 25.0 S ENE
159| @A thAbg S 185.0 TEIFHF
160| 4T tARY 3 65.0 S E N E
161| &4 vARY 34 765.0 TENER
162| &3 oAby S =rEl 85.0 ZTELER
163| @A thAbg S 226.0 TEIFH
164| ST Ay F348 1,113.0 TEIER
165| &4 T tARY 3 53.0 S E N E
166| 4T tARY 3 26.0 S E N E
167| @A thAbg S 299.0 TEIFHF
168| 4T tARY 3 45.0 S ENE
169| &4 vARY 3 220 T EIEH
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170| @4+ thAls S=re]| 564-64 | 564-64 | & = 281.0 281.0 281.0 = RN
171 EA T oA S8 |564-136|564-136| A A 103.0 103.0 103.0 = RN
172| @4+ thAls Sre]| 564-62 | 564-62 | & = 672.0 672.0 672.0 = RN
173| EA T oA S8 |564-158|564-158 | Al A 104.0 104.0 104.0 = RN
174| @4+ thAls F=rE]| 564-60 | 564-60 | & = 708.0 708.0 708.0 = S ENEE
175| EA T tAe S8 |564-157|564-157| A A 41.0 41.0 41.0 = RN
176| @4+ Al S=re]| 564-58 | 564-58 | & = 404.0 404.0 404.0 = RN
177 242 Bag 239 | A 70 70 =
178| @A+ thAls F=re] | 565-167|565-167| & = 32.0 32.0 32.0 = RN
179| @4+ Al S=r2] | 565-166|565-166| & = 25.0 25.0 25.0 = RN
180| @A+ thAbs F=rgl| 305-7 | 305-7 | & = 1,131.0 1,131.0 1,131.0 = TENER
81| 24+ thAls S8l | 3055 | 3055 | & = 873.0 873.0 873.0 = S ENEE
182| @A+ thAls F=rel| 305-36 | 305-36 | & = 853.0 853.0 853.0 = S ENEF
183| A+ thAls F=re] | 565-169|565-169| & = 4.0 4.0 40 = TENER
184| 24+ thAls F=r2] | 565-168565-168| & = 126.0 126.0 126.0 = A nE5
185| 24+ thAls F=rel| 304-6 | 304-6 | & = 1,010.0 1,010.0 1,010.0 = RN
186 @A+ thAls F=re] | 565-150(565-150| & = 116.0 116.0 116.0 = RN
187| @A+ Al F=rd] | 5656-162(565-162| 5 T 19.0 19.0 19.0 = TR
188| &4+ thAls F=rE] | 565-161(565-161| 5 T 122.0 122.0 122.0 = TR
189| @A thAls S=re] | 565-149(565-149| & = 179.0 179.0 179.0 = RN
190| @4+ thAbs S=rel| 304-13 | 304-13 | & = 405.0 405.0 405.0 = TR
191| @4 Al S=re] | 565-148(565-148 | & = 85.0 85.0 85.0 = S ENEE
192| @4+ thAbs S=rel| 304-11 | 304-11 | & = 492.0 492.0 492.0 = TENER
193| @A ThAls S=rE] | 565-147(565-147| & = 76.0 76.0 76.0 = S ENEF
194| @A+ Al S=rE] | 565-146|565-146 | & = 69.0 69.0 69.0 = S ENEF
195| @A thAls S=re] | 565-145(565-145| & = 73.0 73.0 73.0 = S ENEE
196|EA T oAb S| 7722 | T72-2 | & | © 8.0 8.0 R o] g A A
197| @4+ thAbs S=rel| 311-98 | 311-98 | & = 79.0 79.0 79.0 = S ENEE
198| @A+ thAbs F=rel| 303-17 | 303-17 | & = 339.0 339.0 339.0 = S ENEE
199| @A+ Ak S=rel| 311-97 | 311-97 | & = 76.0 76.0 76.0 = S ENEE
200 EA - oAb S]] 303-11 | 303-11 | & = 420.0 420.0 420.0 = TEER
201 | EA T oAb S]] 311-96 | 311-96 | & = 75.0 75.0 75.0 = S ENEE
202| FA T oAb F32]|311-105|311-105| = 65.0 65.0 65.0 = S ENEE
203| EA - oAb F3E] | 303-25 | 303-25 | © = 649.0 649.0 649.0 = RN
204| EA - ALY S]] 323-3 | 323-3 | & T 25.0 25.0 25.0 = RN
205| G tAbs 58| 323-2 | 323-2 | & T 116.0 116.0 116.0 = RIE
206| AT UAbS 58| 3198 | 3198 | = | = 516.0 516.0 516.0 = AR
207 FAT oA F3E] | 319-7 | 319-7 | & | = 671.0 671.0 671.0 = TENER
208| G tAbs 538| 3176 | 3176 | = | = 109.0 109.0 109.0 = FHUFAES
209| @A Ak 538| 3175 | 3175 | = | = 89.0 89.0 89.0 Ea FHUFAAES
210| EA - oAby 3| 317-4 | 3174 | & = 965.0 965.0 965.0 = S ENEE
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211 @A A 58| 317-29 | 317-29 | & = 2.0 2.0 2.0 = TENER
212| @A At 59| 317-33 | 317-33 | = | = 31.0 31.0 31.0 = Ak
213| EA oAb 3| 317-3 | 317-3 | &= = 274.0 274.0 20.0 = FYEFAAES
214\ FA T oAby 38| 317-2 | 317-2 | #+ z+ 395.0 395.0 395.0 = S ENEE
215| @A tAbs 58] |311-1011(311-101 | & = 50.0 50.0 50.0 R =
216| EA 7 oAby F32]|311-104|311-104| & = 150.0 150.0 150.0 R =
217\ EA 7 oAby 38| 303-7 | 303-7 | & | = 20.0 20.0 20.0 = FYUFAAES
218| FA - oAb S| 303-15 | 303-15 | ©f o 579.0 579.0 579.0 = RN
219 EA - oAb 38| 303-2 | 303-2 | &= = 294.0 294.0 294.0 = RN
220| @A tAbs 58] |311-100(311-100| = | = 190.0 190.0 190.0 = RN
21| @A UAbs 538 | 564-18 | 564-18 | = | = 468.0 468.0 468.0 R g gA 91l
22| @A tAbs 59 |311-102(311-102| = | = 323.0 323.0 323.0 = RN
23| G tAbs 538 242-9 | 2429 | = = 3,254.0 3,254.0 3,254.0 = TR
224\ FA 7 ALY F32]|311-103|311-103| & = 63.0 63.0 63.0 = S ENEE
225\ @A Ak S8 317-21 | 317-21 | Al A 89.0 89.0 89.0 = S ENEE
226 EA T oAb S]] 311-99 | 311-99 | & = 15.0 15.0 15.0 = RN
2728 dAbs 539 3179 | 3179 | = | = 93.0 93.0 93.0 Ea FHUFAES
228| FA - oAb F3E] | 317-16 | 317-16 | Al A 77.0 77.0 77.0 = S ENEE
229| @A dAbs 59| 3178 | 3178 | = | = 34.0 34.0 34.0 = RN
230| @A Ak 59| 317-19 | 317-19 | = | = 940.0 940.0 940.0 = RN
231 EA T oAb 32| 306-5 | 306-5 | © = 9.0 9.0 9.0 = S ENEE
232\ FA T oAb F3E] | 317-15 | 317-15 | Al A 233.0 233.0 233.0 = RN
233| EA T oAb F3E | 317-7 | 317-7 | & = 1,195.0 1,195.0 1,195.0 = RN
234 FA T ALY S]] 305-34 | 305-34 | © = 24.0 24.0 24.0 = RN
235 EA - oAb F3E] | 317-10 | 317-10 | &= = 112.0 112.0 112.0 = FHUFAAES
236| EA - ALY S]] 304-36 | 304-36 | © = 28.0 28.0 28.0 = RN
237 @A Ak S538]| 317-14 | 317-14 | Al A 105.0 105.0 105.0 = RN
238| FA oAb F3E]| 303-35 | 303-35 | © = 49.0 49.0 49.0 = RN
239| @A tAbs 58| 317-22 | 317-22 | & = 2,493.0 2,493.0 2,493.0 = RN
240 FA T oAb S| 317-13 | 317-13 | Al A 134.0 134.0 134.0 = RN
241 FAT oAb S| 302-2 | 302-2 | & = 14.0 14.0 14.0 = TEER
242| ST AL F3E 829 829-2 i i 1454 1454 1454 = TENER
243 | FA T ALY F3E] | 56665 |565-170| T = 25.0 25.0 25.0 R o] 33 A A
244|237 A S8 | 565-155 = 74.0 13.0 = RN
245 G T A S |565-154 & 67.0 60 = B A
246 | FA T ALY 32| 305-4 | 305-4 | © = 56.0 56.0 56.0 > o] g A Al
247|127 A S8 | 565-153 = 136.0 1.0 R o] 33 A A
248 | FA T ALY F3E] | 305-3 | 305-38 | © = 73.0 73.0 73.0 > o] 33 A A
249 FAT AL F3E 317-34 = 14.0 14.0 = Ak
2 A 88,789.8 88,021.8
1 | @A oAb vl =2l | 15544 | 1554-4 | & R 764.5 764.5 764.5 Ea S ENEE




=3

fol

A4

2k

(m')

b
o
i

of
El
N
b~
ox

H] a1

iy
o

P

b

2,457.0

4
ul
I‘\E
oft
-

iy
o

P

b

517.0

4
ul
=1
=~
oft
-

iy
o

P

b

973.0

4
ul
I‘\E
oft
-

iy
o

P

b

442.0

4
ul
1=
=~
oft
-

iy
o

P

b

771.0

il
ul
=1
=~
oft
-

iy
o

P

b

456.0

il
ul
1=
=~
oft
-

iy
o

P

b

324.0

il
[l
I‘\E
oft
-

iy
o

P

b

119.0

off
5]
Ay
p

>
1>
il

1

0

iy
o

P

b

629.0

il
[l
I‘\E
oft
-

1

1

iy
o

P

b

513.0

il
[l
I‘\E
oft
-

1

2

iy
o

P

b

276.0

il
[l
=1
=~
oft
-

1

3

iy
o

P

b

509.0

il
ul
1=
=~
oft
-

14

iy
o

P

b

373.0

4
ul
1=
=~
oft
-z

iy
o

P

b

456.0

il
[l
=1
=~
oft
-z

16

iy
o

P

b

578.0

il
[l
1=
=~
oft
-z

1

7

iy
o

P

b

390.0

il
ul
1=
=~
oft
-z

1

8

iy
o

P

b

417.0

4
ul
1=
=~
oft
-z

1

9

iy
o

P

b

266.0

il
ul
=
=~
oft
-

20

iy
o

P

b

190.0

il
ul
I‘\E
oft
-

21

iy
o

P

b

Il

82.0

off
5]
Ay
p

>
1>
il

22

iy
o

P

b

jut)

il
ul
=1
=~
oft
-

23

iy
o

P

b

ot

2
=y
ot
12
>

24

iy
o

P

b

jut)

il
ul
=
=~
oft
-z

iy
o

P

A

334.0

il
ul
I‘\E
oft
-

26

iy
o

P

b

13.0

2
=y
ot
12
>

27

iy
o

P

b

323.0

off
o
o

>
1>
o

28

iy
o

P

b

847.0

il
ul
I‘\E
oft
-z

29

iy
o

P

b

447.0

il
ul
I‘\E
oft
-

30

iy
o

P

b

280.0

4
ul
=1
=~
oft
-

31

iy
o

P

b

2,592.0

4
ul
=1
=~
oft
-

32

iy
o

P

b

478.0

4
ul
=1
=~
oft
-z

33

iy
o

P

b

794.0

4
ul
=1
=~
oft
-z

34

iy
o

P

b

201.0

4
ul
=1
=~
oft
-z

iy
o

P

b

201.0

4
ul
=1
=~
oft
-

36

iy
o

Py

b

451.0

il
ul
=1
=~
oft
-z

37

iy
o

P

b

950.0

il
ul
=1
=~
oft
-z

38

iy
o

P

A

164.0

4
ul
=1
=~
oft
-z

39

iy
o

P

b

207.0

4
ul
=1
=~
oft
-z

40

iy
o

P

b

180.0

4
ul
I‘\E
oft
-z

41

iy
o

P

b

111.0

off
o
o
p

>
1>
o

42

iy
o

P

b

411.0

4
ul
I‘\E
oft
-




A4

2k

(m')

[
o
24

b
o
i

N
B

of
El
N
b~
ox

H] a1

iy
o

P

b

772.0

4
ul
=1
=~
oft
-

iy
o

P

R

1,033.0

4
ul
=1
=~
oft
-

iy
o

P

b

812.0

4
ul
1=
=~
oft
-z

iy
o

P

b

406.0

4
ul
1=
=~
oft
-

iy
o

P

b

427.0

4
[l
=1
=~
oft
-

iy
o

P

b

918.0

il
ul
1=
=~
oft
-

iy
o

P

b

133.0

il
[l
1=
=~
oft
-

iy
o

P

b

445.0

il
ul
=1
=~
oft
-z

iy
o

P

b

430.0

{
4
El
ol
-

iy
o

P

R

46.1

ot

|
ot
12
>

iy
o

P

b

20.0

ot

2 | 2

4
o
12
>

iy
o

P

b

156.0

il
ul
1=
=~
oft
-z

iy
o

P

A

74.0

il
ul
=1
=~
oft
-z

iy
o

P

A

193.0

il
[l
=1
=~
oft
-

iy
o

P

b

392.0

il
ul
1=
=~
oft
-z

iy
o

P

b

171.0

il
ul
1=
=~
oft
-

iy
o

P

b

226.0

il
[l
=1
=~
oft
-

iy
o

P

b

575.0

il
1=
=~
oft
-z

iy
o

P

b

890.1

oft

|
ot
12
>

iy
o

P

b

17.0

oft

2 | 2

4
ot
12
>

iy
o

P

b

28.0

il
[l
1=
=~
oft
-z

iy
o

P

b

38.0

il
[l
1=
=~
oft
-

iy
o

P

b

44.0

il
[l
1=
=~
oft
-z

iy
o

P

b

99.0

4
[l
=1
=~
oft
-z

iy
o

P

b

136.0

il
ul
=1
=~
oft
-z

iy
o

P

b

222.0

il
[l
=1
=~
oft
-z

iy
o

P

b

497.0

il
[l
=1
=~
oft
-z

iy
o

P

b

oft

=2
=y
ot
12
>

iy
o

P

b

999.0

H

(

4
ul
=1
=~
oft
-z

iy
o

P

b

89.0

oft

=2
=y
ot
12
>

iy
o

P

b

114.0

il
ul
=1
=~
oft
-z

iy
o

P

b

858.0

il
[l
=1
=~
oft
-z

iy
o

P

b

538.0

H

(

H

il
1=
=~
oft
-z

iy
o

P

b

1.0

ot

|
ot
12
>

iy
o

P

b

16.0

ot

iy
o

P

b

4.0

ot

2| 2| 2
=y
ot
12
>

4
o
12
>

iy
o

P

b

684.0

H

(

4
[l
=1
=~
oft
-

iy
o

P

b

141.0

oft

2
=y
ot
12
>

iy
o

P

b

313.0

1
[l
=1
=~
oft
-z

iy
o

P

b

483.0

1
ul
=1
=~
oft
-z

iy
o

P

b

336.0

il
ul
=1
=~
oft
-




A e AR (m) P 257 ol9le] A
EE 24 e W3
gz | wg |gz|ag| ™ CEY Wy | A ESS 25| Fx | 49

S AL 2| 66 o 20 20 H ;i*‘ u @g*;];;jkfgm
g oA e 8-5 85 =y o 431.0 431.0 345.0 = RN
g oA e 6-6 6-6 =y =y 353.0 353.0 308.0 = S ENEE
ST oA vl | 342-11 | 342-11 | & @ 811.0 811.0 776.0 = RN
ST AL il | 343-2 | 343-2 | ©@ = 568.0 568.0 548.0 = T ENE N
ST oA il | 3452 | 345-2 | ©@ @ 612.0 612.0 580.0 = RN
ST oA vl el | 347-2 | 3472 | & =y 360.0 360.0 360.0 = S ENEE
ST oA wi=raEl | 340-2 | 340-2 | ©@ = 958.0 958.0 894.0 = TR
ST oA vl ]| 1554-1 > 3,456.2 3,456.2 R o] g A A
ST oAb vl =] | 337-1 337-1 = = 202.0 202.0 197.0 = TR
ST oA Wil | 3372 | 337-2 | & = 138.0 138.0 136.0 = RN
ST oA vl =E] | 338-1 338-1 = = 79.0 79.0 79.0 = S ENEE
g oA v e 335 335 = = 725.0 725.0 725.0 = TEER
g oA e 333 333 = = 164.0 164.0 164.0 =ty TENER
9T oAb wl=e]l | 79-10 | 79-10 | & = 599.0 619.0 515.0 = TENER
g oA e 79-13 = 20.0 20.0 = RN
ST oA wi=E | 78-6 78-6 = = 138.0 138.0 114.0 = TENER
g A wl=E| 76-6 76-6 = = 166.0 166.0 136.0 = TENER
ST oAb vl | 73-2 73-2 = = 519.0 519.0 519.0 = RN
ST oAb vl | 29-2 29-2 = = 883.0 883.0 883.0 =ty TENER
g Ay wl=E| 311 31-1 = = 172.0 172.0 105.0 = RN
g Ay wl=E| 33-1 33-1 = = 203.0 203.0 136.0 = RN
ST oA Wi 216-3 | 216-3 | & | = 76.0 76.0 54.0 = FHUFAES
ST oA vl | 28-2 28-2 %l %l 18.0 18.0 18.0 = RN
g oA e 26 26-2 %l %l 174.0 174.0 174.0 = RN
ST oA vl 36-2 36-2 %l %l 1,327.0 1,327.0 936.0 =ty TENER
ST oA vl 47-1 47-1 = = 106.0 106.0 29.0 = RN
ST oA el | 48-1 48-1 = = 123.0 123.0 46.0 = RN
gA T ARS wiErE] | 244 24-4 = = 116.0 116.0 116.0 =y TENER
g Ay wl=E | 50-1 50-1 = = 132.0 132.0 67.0 = RN
ST oAb vl | 23-4 23-4 %l %l 475.0 475.0 469.0 = RN
ST oAb vl | 23-2 23-2 %l %l 148.0 148.0 148.0 =ty TENER
g oA e 24 24-3 %l %l 36.0 36.0 36.0 = RN
ST oAb =]l 22-9 22-9 %l A 524.0 524.0 333.0 = RN
ST oA wi=E | 22-8 22-8 %l %l 113.0 113.0 113.0 =ty TENER
ST oA Wl 17-1 17-1 = = 582.0 582.0 179.0 = RN
ST oAb W=l 13-5 13-5 = = 366.0 366.0 221.0 = TENER
g oA e 12-6 12-6 = = 43.0 43.0 43.0 =y TEIER
G oA e 11-7 11-7 = = 441.0 441.0 436.0 = T ENE N
g oA e 9-4 9-4 T T 190.0 190.0 131.0 = TENER
ST oA W=l 10-7 10-7 = = 283.0 283.0 283.0 = T ENE N




. A A5 214 AQEA (m) & F A AF o9 A .

kil E B . H] 3L
gz | wg |wzlwz) ™| ez | oag | 4 F2 2% F2 | A4

125|249 @ chAbg wiEel| 9-13 | 913 | % | % | 860 86.0 86.0 = FERER
126) 24E chAbg wiEe| 9-12 | 912 | % | % | 330 330 330 = SEmEy
127) g4 w oAb W=l | 92 | 92 | w | w| 770 | w70 | S50 | 0= FERER
128 2 E oAb W | 19711 | 197-11 | = | % | 1460 | 1460 | 1100 | = FERER
120| A oAb W=l | 76 | 76 | W | S| 2640 | 2640 | 2190 = SEREY
130| A ARG wimel| 3413 | 3413 | W | % | 6040 | 6040 | 50 | = FERER
131 A E A wimel| 3423 | 3423 | W | % | 3660 | 3660 | 3500 | = FERER
132) 2@ chAbg vl | 3446 | 346 | A | A | 1200 | 1200 | 1250 A FERER
133 A E oAb wimel| 3442 | 342 | W | % | 6420 | 6420 | 59650 | = FERER
134|242 g Wil | 3456 | 3456 | A | A | 1120 | 1120 | 710 @ FERER
135 2@ chAbg vl | 3407 | 340-7 | Al | Al | 6140 | 6140 | 5020 = SEREY
136| 2% oAb Wi | 3462 | 3462 | ® | W | 3770 | 370 | 37m0 | % FERER
137|242 oAb Wi | 3482 | 3482 | B | W | 1350 | 1350 | 130 | FERER
138 2@ chAbg vl | 340-1 | 340-1 | ¥ | ¥ | 9310 | 9310 | 9040 A FERER
139 A% oAb Wi | 3362 | 3362 | B | W | 2400 | 2400 | 2380 | FERER
140/ 23 e wiEel| 336-1 | 3%6-1 | ® | % | 800 80.0 80.0 = S ERRES)
141|249 % chAbg vl | 335-3 | 3353 | A | Al | 12650 | 12650 | 12650 | = TEREY
12 9% oAb W] 33 | 334 | % | W | 6910 | 6910 | 6910 | FERER
143) 24 ® chAbg wimel| 1556 | 1556-1| % | = | 688 | 1780 | 688 z el
144 24F oag W= | 3312 | B2 | ® | = | 2090 | 2090 | 2090 | B EX R
145|242 chAbg wiEel| 1516-3 | 1516-3 | & | B | 2805 | 2805 | 2805 | = FERER
146) A A wi=el| 330 | 330 | W | | 2800 | 2800 | 2800 | = SEREY
147|242 oarg 2| 3292 | 3292 | ® | W | 50 50 50 = SEREY
148 2% oAb Wl | 3081 | 3081 | B | W | 4840 | 4840 | 4840 | FERER
149| 2% chAg vlel| 308-4 | 3084 | A | Al | 300 39.0 39.0 = FERER
150 235 chbe wiEel| 308-3 | 3083 | ® | % | 230 230 230 z el
151 24 % A vi=el | 1555-1 | 1555-1 | = | = | 349 349 ST A O A s
152 94 oAb vlEel| 3082 | 3082 | ® | % | 30 30 30 z EX R
153 2@ chAbg wiEel| 3722 | 3122 | = | = | 440 440 440 z EX R
154) 24 E hAbg Wil | 372-1 | 3721 | A | A | 650 650 650 e FERER
155 24 E oAb Wil | 294 | H9-16 | ® | % | 5050 | 4010 | 5050 | B el
156| 2@ chAbg wiEel| 15155 | 15155 | & | & | 2306 | 2306 | 2806 | = FERER
157 242 oavg WSl | 3342 | 332 | B | ® | 1380 | 130 | 180 | FERER
158| 2@ chAbg wimel| 3332 |32 | % | = | 7770 | 7m0 | M0 | % EX R
150| 2@ chAbg wimel| 331 | 331 | % | § | 5370 | 5370 | 5370 = SEREY
160 A chAbG wimel| 3633 | 3633 | W | % | 1540 | 1540 | 1540 | = FERER
161 2435 oAb wiEel| 3085 | 3085 | Al | Al | 200 200 200 = FERER
162 2@ chAbg el | 12681 | 1268-1 | 7+ | | 530 530 530 = e ERRES)
163 2@ chAbg il | 3086 | 308-6 | = | = | 1370 | 1370 | 1370 | % g4 7
164) 2@ chAbg vl | 354-3 | 3543 | A | Al | 13390 | 13390 | 13390 | = FERER
165 A A wimel| 389-3 | 3893 | ¥ | ¥ | 7240 | 7240 | 7240 = TERER




. kil A& 214 AdEH (m) Ea ZArd olele] dg .
ks &AA (m") . - Hla
i W7 | dx|\W% = WA 4 T T F Ao 4
166| @A thAbg w2l | 374-7 | 374-7 | &= | & 237.0 237.0 237.0 & g A
167| @A thAbg =] | 1267-3 | 1267-3 | = | & 80.0 80.0 80.0 = 45
168| G ThAb W= | 374-6 | 3746 | = | = 429.0 429.0 429.0 & =i
169| @A thAbg =2l | 373-5 | 3735 | & | & 37.0 37.0 37.0 & e
170 @A thAbx wi=g]| 373-3 | 373-3 | A | A 46.0 46.0 46.0 = TENEE
171|223 oAb vl | 419-10 | A19-10 | o | ¢ 4,802.0 4,802.0 4,802.0 = TENEE
172|232 oAby vl | A1 | A5 | 9 | 9§ 62.0 21.0 62.0 = TENEE
173| 24 oAby vl | AT -4 9|« 1,997.0 1,792.0 1,997.0 = 5 EalE
174| @A thAbg =] | 462-2 | 462-4 | A | A 312.0 343.0 312.0 = TENEE
175 @4 oAby =g | 1515 | 1515-7 | & | & 282.9 300.0 282.9 & - Al
176| @A thAbg =] | 1284-2 | 1284-2 | = | & 98.0 98.0 98.0 = = B3 g5
177\ 243 oAby vl | A 2H-4 | 9]« 5,788.0 5,855.0 5,788.0 = = EalE
178| & oAb i =rE] 2H-6 4 220.0 220.0 = 5 EalE
179|243 oAby vl | 404 404-1 | A | A 1,461.0 1,423.0 1,461.0 = TENEE
180| @A thAb W=l | 410-2 | 410-5 | d | A 21.0 25.0 21.0 = TEIFE €191
181 &4 ThAb W] | AF3-1 | A3-1 | 9 | ¢ 61.0 61.0 61.0 = STEIER
182| g thAbs wi=rE]| 410-1 | 410-4 | A | A 39.0 42.0 39.0 = ST EAFT 91
183| & vhAb W=l | 410 410-3 | A | A 28.0 18.0 28.0 = S EAET 91
184| G thAbg W=l | 1283 |1283-17| - | T 119.0 132.0 119.0 = & YA
185 &/ vhAbE W=l | AF3-2 | A3-2 | ¢ | § 4,349.0 4,349.0 4,349.0 = S EalE
186| &/ thAb W] | Ak2 A2-7 19| 9| 167220 | 16996.0 | 16,722.0 = TENEE
187\ &/ thAbE wi=El | AF9-2 | At9-12 | ¢ | ¢ 2,074.0 2,072.0 2,074.0 = TENEE
188 A ThAb W=l | AF9-9 | A9-14 | o | ¢ 6,026.0 6,269.0 6,026.0 = S EalE
189 &/ vhAE wi=El | AF9-1 | At9-11| ¢ | ¢ 193.0 235.0 193.0 = S EalE
190| & oAb wi=E] | A6 26-3 | 94|« 757.0 3,542.0 757.0 = S EalE
191 & oAb vl =re] 2+6-4 ! 42.0 42.0 = S E N E
192| & oAb vl =rE] 2H6-5 4 2,238.0 2,238.0 = S Bl E
193| & oAb vl =rE] 2H6-7 4 20.0 20.0 = S EalE
194|243 oAb wi=eE] | A5 A5-2 | 4|« 4,303.0 4,477.0 4,303.0 = 5 EalE
195 & ohAb W] | 403 403-1 | A | A 576.0 596.0 576.0 = S EalE
196 | &4 oAb wi=e] | A -2 | 9| 4 1,420.0 1,358.0 1,420.0 = TENEE
197|243 oAb vl | 415 415-1 | A | A 329.0 339.0 329.0 & =i
198| @A thAbg wi=re] | 414-3 | 414-11 | = | & 66.0 65.0 66.0 & =i
199| @A thabg =] | 414-7 | 414-12 | = | & 78.0 78.0 78.0 & =i
o GA T AR 33
200| BA T TRAR =] AR-1 | Ab-1 ) | 9 16.0 7.0 7.0 ol el 11058035 (B4ks, &4
& INE)
201 | @A ohAbS wili=e]| 405-2 | 405-8 | d | A 2.0 5.0 2.0 = S EalE
202| @A thAS wl=e]| 406-1 | 406-3 | d | A 18.0 25.0 18.0 = S EalE
203 &9 ThARE vierE] | 414-4 | 4144 | & | & 18.0 4.0 4.0 & =i
204| BT TRARE vl=rE] | 414-2 = 945.0 2.0 A8 4 AAA GE
205| BT TRARE vl | AR 4 4,564.0 99.0 Aned v =r2] 793




A9 e AYgWA () PR N EEEE
iE 2 A7) A W
gz | oag |wzlwzl | ez | owa | 4w Fa 2R F a2 | A4
206 9 TRARE vl | AR7-1 | Ab-T | 9 4 82.0 82.0 82.0 £ S ENEE
207 &9 AR vl =E] 2F7 276 | ¢ 9 273.0 273.0 273.0 £ S ENEE
208| EA T thAbg Wi el | 462-2 | 462-2 | A =l 58.0 58.0 58.0 = STEIF S
209 9 ohAE v | 1515 + 119,849.7 8.4 + o) -3 S Al
210 & ARG v =g 24 AH-8 | ¢ 9 2,238.0 2,238.0 2,238.0 £ STEIF S
211|247 thAbs wi=re] | 405-2 | 405-9 | A =l 15.0 15.0 15.0 £ STEIFHF
212|237 thAbE Wil | 406-1 | 406-7 | A A 4.0 4.0 4.0 Ea S ENEE
213 &gtk el | 410 A 2430 10 i S3e) 445
214 FA - oAb el | 1283 |1283-19| ++ | T+ 56.0 56.0 56.0 £ THFAAER
215 & AR =g 411 411-3 | A =il 8.0 8.0 8.0 Ea STEIF S
216 9 thAE vl | AR3-3 | 4R35 | ¢ 9 2,592.0 2,592.0 2,592.0 £ S ENEE
217 8 THAE vl | AR2-8 | Ak2-15 | ¢ 9 4,422.0 6,520.0 4,422.0 Ea RN
218| & AR v =g 2k2-17 9 2,098.0 1,861.0 £ S ENEE
219 & AR v | AR5 | AR2-14 | & | & 221.0 221.0 221.0 + g
220 9 AR v | Ak2-1 | AR2-12 | & | & 62.0 62.0 62.0 Ea RN
221 8 THAE vl | AR9-15 | 4F9-18 | ¢ 4 2.0 2.0 2.0 £ RN
222 3 THAE vl | AR9-1 | AF9-17 | < 9 39.0 39.0 39.0 Ea STEIFHF
2233 THAE vl | Ak6-2 | 469 | < 9 175.0 175.0 175.0 = RN
224 3 THAE vl | ARS-1 | Aks4 | 9 4 16.0 16.0 16.0 £ STEIFHF
225 3 AR v =E A5 A5-3 | ¢ 9 170.0 170.0 170.0 £ STEIFHF
226 9 AR vl =E] 26 AH6-8 | ¢ 9 284.0 284.0 284.0 £ STEIFHF
227 E3a THAE v | AR5 | 4H-9 | 9 9 626.0 626.0 626.0 = RN
228| &3 AR v =g 404 404 =l =l 146.0 146.0 146.0 £ STEIFHF
229 &3 AR vl 403 403-2 | A =l 764.0 764.0 764.0 Ea STEIFHF
230 & AR vl 23 234 | ¢ 4 626.0 626.0 626.0 £ STEIEHF
231 & AR v k2 A2-11 | < 9 4,704.0 4,704.0 4,704.0 £ S ENEE
232| @A thAbg wiEre] | 413-1 | 413-4 | A A 35.0 35.0 35.0 AL5 789
233| A A vl | 79-4 79-11 | 9 | & 272.0 272.0 272.0 + o -3 S Al
234 Ed 7 AR v E 380-5 @ 13.0 13.0 Ea A5
TRaA
235 & AR =] 2k2-16 9 14,810.0 53.0 ijij;;é qi}i;ﬂ%ogt;}%
%
e aA
26| eA T g e A12-18 9 | 41470 ST I U
%
237 3 AR v 342-4 = 34.0 34.0 + o -3 S Al
238| A AR v =g 341 @ 72.0 72.0 + o -3 S Al
239 A AR vl 6-2 @ 59.0 59.0 + o -3 S Al
240 9 AR v =g 7-2 @ 48.0 48.0 + o -3 S Al
| gd e g e 82 9| 820 82.0 z SEEER
o2 g g e 197-2 | 610 280 = a4
3| g g e 95 9| 140 10 | ® SEEER
244 F3 7 THARE v =E 9-7 @ 103.0 103.0 + o -3 S Al




al

T
mo
.a nMO
T
o
o
o <
7| N
of
4
uE
1o
- - -
TN | XX XTNXTNTNXTNTNTNTNTNTNTNXTNTN TN T | X | T || x | T || <|=<|=<|=% TIX || < ||<|<|<|<|<|Hk|=<
& mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ <r mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ mﬁ - mﬁ mﬁ mﬁ mﬁ <r mﬁ mﬁ mﬁ mﬁ mﬁ <r mﬁ
T O O T I O B O O O e N B I I I I S o B LR | R | R | R | MR | MR | W | R | R | R | WO | | e | W | W | R W || W
T T T T T T T T T T T T T T T T T T T T N T T T T T T T < T T T T N T T T T T N T
X e o I U e O o il I U o I o o o O o o w0 Il ol B o ol I B
oF = I = O O o T = O O e I I TIF|T| R T |T | BR|B|T|B™|T
4 Ho Ho Ho
7O
o | o | Mo | Mo | Mo | W | Mo | Mo | Ho| Mo | Mo | Ho | M| H | M| o | Mo |Ho| Mo |H | H | N | Ho|H | H | H || H | H | i | H | H | H | B | i [ Ho | H | H | H | H ||
~lm |22 o m < m = m o qﬂw % qﬂw m % M qﬂw M 2| o % o m % ocl|laol|laol|l 2| e qﬂw CLlaolalalalalalolalolola
= — < “ %) ) .. 2 R} 2 ) %) p) C i «. P} e “ “ e = — Pl — .. J «. S «. «. d — o= 4 ..
Elw 5|88 5| 2|8 |8|E| g 8|g|lg g glglglg|la|8|Z|s|Eg|F|||s g |2 |8|g|R|lg|g|g g |l5F|c|=|a
b
il
oF ,
N
w0
7o
T2 el 2 o m < m =) % =) % % % qﬂw < M qﬂw % m < % o M 2| <= % % f|lao| <= m M S|l 2|laolaola|le % M o | =
A= — < 3 s 5 > ] ’) jele] — ) q o~ — — p) — —_ — < S —_ R 5 q > s —
~E |Z§|&|s|5 2|8 8 |E| 8 88|82 g|lg g/ 5|8 |B|F|2|2|l8 g ~|lE|Q & E|B|E|5|8|F|E|B|8|E
’ ..W e I s s e O e e e T B B = o I e o M| gn | Bz | Bz | Bn | gn | @n | Bm | T | Br | B | P | 9 | M | P | 9m | Bm | R | 9= | WM | B¢
r
XM
7o
w | | — ™ — — — — ™ 32} 32} — N — — — <t N = <t o | o< ~ | 6| @ | S R ¥
| I | | | | © | i | | [2g] | = | <=} e} <=} o~ Q0 0 [op} [agl | | | | | | | I | | = | | | Lo o I3 o
Bl ool |||l |||l |8 Qg |®0O ] q 0|88 d8F|le sl s alala 2|8l 88]8
A e e e N N | A &3 N = =~ | & | R RB| D] 0| 0| ®© % | o | & A S
o
X
N
7o
I T T T O O T T O I O B S I S O I S B I S B O S B B e L I T O O T O O O O O O O B
N o o I o B o O o I o O I o I o I o O o N o o O o I o o I o I ol N I ol B I
e = I B = B I I B I I I = B B = B = B I e e I I I I = B I = e I == B = I B I B = I e e ==
= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
® o | om | oz | on | om | om | om | o | o | om | om | o | om | om | oz | om | om | oz | om | om | oz | oz | om | o | om | o | om | o | o | om | om | oz | om | om | oz | om | om | om | oz | oz | oxm
= e [ O o [ A e A (R e | (Rt (A e (et v et [ (s A (R Q) e e
P o e S (o SO o S o S o S S S o S o S o o S S o i SR o S (S S S (o o S o (O i SR S S S S o S o (o SR S o S o S (S SO o S (o S o
<4 i) i) i) i) i) i) i) i) i) i) i) i) (i) i) i) i) i) i) i) i) i) i) (i) i) i) i) i) i) i) i) i) i) i) i) i) i) i) i) i) i) i)
e R T T O 1 1 A O O 1 A 1 O O I O 1 O O 1 O O O 1 I B R A R O O
nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO nMO
e B B A O o N o A A o O O A A O A B A N Y I A e
drlelelsglg gl |2 gl2lelglglglelglg glgldlelglelglelelslglelsglelslelglgl=z8lg|z| 2
o N N N N N ] ] ] ] ] ] ] ] ] ] [ [ [ [ [ [ [ [ [ [ o o [ [ [ [ [ [ N N N N N N N N
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286 | ST oA 157.0 R o] 33 A A
287 ST oAb 192.0 R o] 33 A A
288 | FA T oA 101.0 Ea o] 33 A A
289 | FA T oA 265.0 R o] g A A
290 EA T oA 188.0 R o] 33 A A
A
1 RS = 19882 z o3 1 4]
2 ERES o 3570 2 EEEEP
3 ERES ot 169.0 2 EEEPY
4 ERE ot 59.0 1 SEaEn
5 CHAbE w 43.0 a FELFH
6 ERES A 430 = FTE G
7 RS A 99.0 = GEEESS
8 RS A 450 = FE G
9 ERES Al 59.0 = ZEs G
10 RS A 199.0 = GEEESS
11 2 T 168.0 = GEEESS
12 A g Al 62,0 = AxR
13 RS 107.0 = GRS
14 A g Al 426.0 = A3
15 = 137.0 =ty A4 5
16 AL Al 224.0 = A4 5
17 = 91.0 =ty A4 5
18 ERES 3 97.0 2 EEEPY
19 = w 91.0 E2 TENER
20 = = 314.0 R o] 33 A A
21 ERE ot 4400 2 FEaEn
2 ERE 7 700 2 EEEPY
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24 SRS o 120 = SERED
25 = A 53.0 = A w55
26 = A 19.0 = EE R
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29 = A 13.0 = S ENEE
30 = A 1,909.0 = pakc R
31 AL 469.0 = pakc R
32 AL S Al 523.0 = pakc R
33 = 168.0 = pakc R
34 = A A 1,509.0 R o] g A A
35 = A A 1,394.0 =ty pakc R
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94 ohAkg oldel| 639 | 639 | W | Wl | 1850 | 180 | 180 | % FEAEy
YA AR oldel| 640-1 | 640-1 | W | ) | 5420 | 5420 | 5420 = FERER
AT oARg oldel | 637-8 [637-10 | W | Wl | 2820 | 2820 | 2820 | % FEALEN
94 thAkg oldel | 6356 63512 | A | A | 90 80 90 7 EX k)
GAE TALg ol | 6355 63511 | | = | 1560 | 1750 | 1560 | ¥ EX k)
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81 | dA T tAbg ol el | 6575 | 6575 | = = 91.0 91.0 91.0 R 2A

82 |G thAbg ol Hel| 657-1 | 657-10 | A %l 160.0 435.0 160.0 = RN

83 | FA T AL ol H e 657-11 %l 75.0 75.0 = RN

84 |G thAbg ol - el | 657-7 | 657-7 %l %l 2,364.0 1,846.0 1,846.0 R o] 33 A A

85 |dA T tAb ol HeEl| 657-3 | 657-3 | = | & 99.0 99.0 99.0 R gA

86 | FA T tHAb ol HEl | 6576 | 6576 | = | & 277.0 183.0 183.0 R 2A

87 | AT ThAb oAl | 65674 | 6574 | = | = 66.0 66.0 66.0 R 2A

83 | FA T AL ol H e 726 726-1 LS Y 513.0 531.0 271.0 = pakc R

89 | EA T TAbE ol H e 7264 = 266.0 266.0 = paRc R

90 | AT ThAR ol | 6644 | 6544 | = | = 89.0 89.0 89.0 R =

91 | @A tAb oAl | 6636 | 653-9 | = | = 3.0 9.0 3.0 R =

92 | AT tAb ol HEl| 653-2 | 663-2 | = | & 102.0 102.0 102.0 R gA

93 | AT thAb ol el | 653-4 | 6634 | = | & 27.0 27.0 27.0 R gA

94 | dA T TAb ol HE]| 6535 | 663-8 | = | & 28.0 11.0 28.0 R gA

95 | AT thAb ol el | 652-4 | 652-4 | = = 14.0 14.0 14.0 > gA

96 | @A THAb ol el | 652-2 | 652-8 | = = 114.0 134.0 114.0 > gA

o7 | e E ThAg ol el | 64-37 © 132.0 10 e AN MED

98 | AT ThAb oAl | 6562-5 | 652-10 | = | = 47.0 32.0 47.0 R gA

99 | AT ThAb ol el | 694-28 |694-104| A %l 517.0 533.0 517.0 = A -5

100| EA T ALg o] Hel | 646-3 | 646-8 | = | = 11.0 9.0 11.0 = AT H

101| 24+ Al olHE| 6465 | 6465 | &= | = 51.0 15.0 51.0 R gA

102| 24+ ThAlS ol e | 648-8 | 648-8 | & | = 80.0 48.0 80.0 R gA

103| 24 ThAls ol e | 648-5 | 648-13 | &= = 122.0 113.0 122.0 > gA

104| EA T AL o] Hal| 6482 | 648-2 | & | © 33.0 33.0 33.0 R - FgAA GA T
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108| @A A ol Al | 4H29-2 | Ak29-7 | < 9 205.0 209.0 205.0 = RN

109 @4 A ol A& | 4H29-1 | Ak29-6 | < A 3,009.0 2,984.0 3,009.0 = RN

10| B4 HAbg ol de | A25-9 | 2k25-9 | + | 2,638.0 1,135.0 1,135.0 E‘i‘:—;%_ﬁﬁ 7A71% oA EYE 487
11| A thAbs ol d e 276 276 A A 102.0 102.0 102.0 R gA

12| @A+ thAbs ol H 720 720-2 | | T+ 486.0 499.0 486.0 = FHUFAES

13| 24+ thAbs ol H e 275 275 %l %l 218.0 218.0 218.0 = RN
114|243 A ol deE | 274-1 274-1 %l %l 1,051.0 1,044.0 1,051.0 = RN

15| EA T SALg ol el | 2744 | 2744 | & | & 507.0 501.0 507.0 R gA

16| @4 tAg ol A | AF25-25]425-25 | < 9 36,286.0 36,286.0 36,286.0 = RN
117|243 thAls ol d e | 4k25-15(4k25-15| = = 102.0 102.0 102.0 R gA

18| A A ol A | AF25-10(4H25-10| < 9 2,025.0 2,025.0 2,025.0 E‘i‘:—;%_ﬁﬁ 7A71% oA EYE 487
19| EA T OAbg ol e | 273-2 | 273-2 | &= | &= 96.0 73.0 96.0 R o FgAA GA T
120 @4 Ay ol d e | 4256 [4125-29| = | & 723.0 736.0 723.0 = RN

121| @A thabs ol e | 648-11 | 648-11 | o o 145.0 8.0 145.0 = RN
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122|243 tAbg ol A el | Ak25-2 | 4H25-21| < 9 33,314.0 33,432.0 33,314.0 Ea RN

123| @4 HAbg ol d e | AF25-13|4125-32| = | & 29.0 46.0 29.0 Ea 2A

124|243 YA o] d e | AF25-14(4125-33| = | & 67.0 107.0 67.0 Ea =

125| 24 ThAks ol e | 274-3 | 274-6 %l %l 65.0 67.0 65.0 = paRc R

126 @4 A ol H | 272-1 212-3 | & | & 83.0 126.0 83.0 R gA

127\ ST OALg ol He | 2742 | 2745 | & | & 120.0 140.0 120.0 Fud ol e 476

128| @A+ ThAls olHe| 273-3 | 273-3 | & | = 30.0 26.0 30.0 R i FgAA GA T

129| @A+ thAbs ol H 707 707-3 | = = 427.0 429.0 427.0 = paRc R

130| @A+ thAbs ol H 295 295-2 =) =) 2,406.0 5,590.0 2,406.0 = FHUFAAES

131| 24+ thAbs ol H e 295-4 A 3,074.0 3,074.0 = FHUFAAES

132| @A+ thAbs ol H 78 78-2 T | T 188.0 453.0 188.0 = AR

133| @A+ Al ol HE 78-3 T 27.0 27.0 = AR

134| @A+ Ak ol H € 79 79 = = 833.0 790.0 790.0 Ea RIS

135| @A Ak olde]| 273-5 | 2735 | & = 101.0 85.0 101.0 R =

136| EA T Abg ol e | 2734 | 2734 | & | & 266.0 266.0 266.0 R - FgAA GA T

137| @A+ thAbs ol H € 77 77 = = 1,251.0 1,234.0 1,251.0 = RN

138| @A+ thAbs ol H 76 76 = = 1,302.0 1,267.0 1,302.0 = RN

139| @A+ Ak ol H € 67 67 = = 3,251.0 3,226.0 3,251.0 = RN

140 24 A ol d | 279-1 279-1 LS Y 84.0 84.0 84.0 R g FgAA GA T

141|843 YA ol -] | Ak26-1 | 4k26-1 | 5 | B 1,276.0 1,276.0 1,276.0 Ea RN

142\ ST gAEg ol HeE | 279-2 | 279-3 | & | © 28.0 35.0 28.0 e+ ol e 410

143|243 A o] d e | Ak25-16(4125-16| = | & 540.0 511.0 511.0 R =

144| @4 YAy ol d e | A25-7 [4125-30| = | & 75.0 103.0 75.0 Ea RN

145| @A+ thAks ol H € 66 66 = = 979.0 959.0 979.0 Ea A -5

146 @A+ thAbs ol H € 65 65 = = 2,332.0 2,329.0 2,332.0 Ea RN

147| @A+ thAks ol HE 62 62 = = 1,578.0 1,578.0 1,578.0 = RN

148| @A+ thAls ol H € 61 61-1 = = 2,070.0 1,947.0 2,070.0 = RN

149| @A+ thAbs ol H € 60 60-1 = = 123.0 93.0 123.0 = RN

150 24+ Ak ol e | 280-2 | 280-2 | B | & 20.0 20.0 20.0 Ea S ENEE

151|843 oA ol d | 280-1 280-3 | & | & 7.0 18.0 7.0 R 2A

152| @4 Ay ol d e | AF25-17|4125-35| = = 34.0 121.0 34.0 R 2A

153| @A+ thAks ol H € 2+25-34 = 2.0 2.0 R 2A

154| @A+ thAbs ol H € 298 298-2 | | &= 491.0 479.0 491.0 = FHUFAES

165\ &A@ HAbg olel| 59 w 39800 | 4660 EE s

156 @A+ Ak ol H e 82 82 = = 3,022.0 3,014.0 3,014.0 = RN

157| @A+ thAbs ol d e 64 64-1 = = 2,614.0 2,591.0 2,614.0 = RN

158| @A+ thAbs ol H e 63 63-1 = = 1,176.0 1,087.0 1,176.0 Ea S ENEE

159 @A thAbs ol e | 297-4 | 297-12 | z+ 269.0 468.0 269.0 = TR

160| @A+ thAbs ol d 297-17 z+ 134.0 134.0 = TR

161| 24+ thAbs ol d e 297-18 Z+ 69.0 69.0 = AR
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162 4T ThAg oldel | 107 = 29940 | 360 A Tk Shs el e
v 107-401
163| @A+ Ak ol H € 153 153 = = 797.0 772.0 772.0 = RN
164| @A A o)A & 152 152-1 = = 869.0 835.0 869.0 = S ENEE
165| A+ thAbs ol H € 151 151-1 = = 614.0 569.0 614.0 = RN
166| @A+ thAls ol d € 297 297-11 | &+ | T+ 363.0 465.0 363.0 = FHUFAAES
167| 24+ thAls ol d € 80 80 = = 981.0 950.0 981.0 = RN
168| @A+ thAls ol H 81 81 = = 2,819.0 2,798.0 2,819.0 = RN
169| EA - oAbg ol HaE | 297-9 | 297-9 | + | T 660.0 660.0 660.0 = Ak
170| @4+ thAbs ol d 161 161 = = 193.0 193.0 193.0 = RN
171| @4+ thAbs ol d e 154 154 = = 2,987.0 2,980.0 2,980.0 = RN
172| @A+ Ak ol H e 156 156 = = 2,298.0 2,298.0 2,298.0 = RN
173| @A+ Ak ol H € 155 155 = = 2,593.0 2,578.0 2,593.0 = RN
174| @4+ thAbs ol H € 164 164 = = 1,203.0 1,196.0 1,203.0 = RN
175| @A+ thAbs ol d e 165 165 = = 882.0 882.0 882.0 = RN
176| @A+ thAbs ol d e 166 166 = = 3,017.0 3,017.0 3,017.0 = RN
177| @4+ thAbs ol H € 299 299-2 | = = 1,283.0 1,829.0 1,283.0 = FHUFAAES
178| @A+ thAls ol H 299-4 = 534.0 534.0 Ea FHUFAAES
179\ &4+ 9ALg ol Ha | 2975 | 297-13 | + | T 1,093.0 1,467.0 1,093.0 = TR
180 A+ thAbs ol 297-14 T 387.0 387.0 = kR
181 24+ thAls ol 108 108-1 = = 417.0 352.0 417.0 = RN
182| @A+ thAls ol 169 169-1 = = 2,342.0 2,285.0 2,342.0 = TR
183| @A+ thAls ol 144 144-1 = = 2,617.0 2,567.0 2,617.0 R o] 33 A A
184| @A+ thAbs ol H e 143 143-1 = = 2,004.0 2,021.0 2,004.0 R o] g A A
185| @A+ thAls ol H 113 113-1 = = 43.0 26.0 43.0 R o] g A A
186 @A+ thAls ol H 114 114-1 = = 228.0 185.0 228.0 R o] 33 A A
187| @A+ thAbs ol H € 115 115-1 = = 380.0 334.0 380.0 R o] g A A
188| &4+ thAls ol 116 116-1 = = 335.0 305.0 335.0 > o] g A A
189 @A+ thAls ol H 117 117-1 = = 94.0 87.0 94.0 R g GA 91l
190| @A+ thAbs ol H 118 118-1 = = 449.0 418.0 449.0 R o] g A A
191 @A+ Ak ol d 119 119-1 = = 235.0 221.0 235.0 R o] g A A
192| @A+ thAbs ol H e 120 120-1 = = 794.0 740.0 794.0 R o] 33 A A
193| @A+ thAbs ol H e 122 122-1 = = 296.0 277.0 296.0 R o] g A A
194| @A+ Ak ol HE 123 123-1 = = 332.0 311.0 332.0 R o] g A A
195| @A+ thAbs ol H e 124 124-1 = = 227.0 213.0 227.0 R o] 33 A A
196 @A+ thAbs ol H 125 125-1 = = 184.0 173.0 184.0 R o] g A A
197| @A+ thAbs ol H e 126 126-1 = = 275.0 261.0 275.0 R o] g A A
198| @A+ thAls ol 127 127-1 = = 463.0 437.0 463.0 R o] g A A
199 @A+ thAbs ol H 89 89-1 = @ 338.0 320.0 338.0 R o] g A A
200 EA T oA o] H e 88 88-1 = = 921.0 922.0 921.0 R o] 33 A A
201| @4 Ak ol | 181-1 181-1 T | T 10.0 10.0 10.0 R =
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202| @A tAbS ol AP | 182-8 | 182-8 | | T 20.0 20.0 20.0 R 2A
203| EA - oAb ol H e | 698-1 | 698-1 LS Y 163.0 8.0 8.0 = A4 5
204| @A tAbS ol AP | 182-7 | 182-10 | + | T 56.0 39.0 56.0 R gA
205| @ thAbE ol | 182-4 182-9 | = = 124.0 93.0 124.0 R 2A
206 | FAw oRAbR o] He] | 187-7 | 187-13 | &= = 12.0 3.0 12.0 R gA
207 EA T AL o] H e 167 167 = = 1,108.0 1,095.0 1,108.0 =ty TENER
208| FA T oA o] H e 168 168-1 = = 1,843.0 1,816.0 1,843.0 = RN
209 EA T oA o] H e 177 177-1 = = 586.0 600.0 586.0 = S ENEE
210 EA T oA o] H e 176 176-1 = = 468.0 482.0 468.0 = RN
211|247 oAb o] H e 175 175-1 = = 181.0 190.0 181.0 = RN
212| @A tAbs ol AP | 2976 | 297-15 | | T 454.0 471.0 454.0 = kR
213 EA T AL o] H e 174 174-1 = = 386.0 398.0 386.0 = S ENEE
214 EA T AL o] H e 173 173-1 = = 95.0 98.0 95.0 = S ENER
215 EA T AL o] H e 142 142-1 = = 819.0 833.0 819.0 R o] g A A
216 EA T AL o] H e 141 141-1 = = 628.0 642.0 628.0 R o] g A A
217 27 AL o] H e 140 140-1 = = 834.0 860.0 834.0 > o] 33 A A
218| EA T TRALS o] H e 139 139-1 = = 332.0 347.0 332.0 R o] g A Al
219 EA T oA o] H e 138 138-1 = = 853.0 885.0 853.0 > o] g A A
220 EA T oA o] H e 137 137-1 = = 158.0 165.0 158.0 = FHUFAAES
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ks 244 (m*) , - Hl
gz WA x| ¥4 Fx W7 4 T4 F F &2 4

69 57 ARE Ab58-5 | Ab58-5 | 91 | 9 | 16530 | 16530 | 1,653.0 e FENER
70 57 ARE 480 480 | ® | ® | 18120 | 18120 | 18120 = SRR
71 57 ARE 478 478 | & | @ | 8400 840.0 840.0 = FENER
72 57 ARE 468 468 | & | @ | 9880 988.0 988.0 = TELER
73 57 ARE 467 467 | & | @ | 3740 374.0 374.0 = SRR
74 57 ARE 466 | 466-1 | ¥ | © | 1,7940 | 17940 | 1,794.0 e SRR
75 57 ARE 465-1 | 465-1 | ® | ¥ | 1,3580 | 13580 | 1,3580 e TELER
76 57 AR% 464-1 | 464-1 | ® | ® | 1,900 | 1,9000 | 1,900.0 = SRR
77 57 AR%E 462-1 | 462-1 | & | ® | 1,909.0 | 19090 | 1,909.0 e TELER
78 57 AR%E 461 461 | ® | ® | 1,1870 | 1,1870 | 1,187.0 e TELER
79 57 AR%E 460 460 | ® | ® | 16530 | 16530 | 16530 = SRR
80 57 ARE 460-1 | 460-1 | ¥ | ® | 1,0050 | 1,0050 | 1,005.0 e TELER
81 57 AR%E 404-1 | 404-1 | & | & | 2690 269.0 269.0 e TELER
82 57 ARE 493-33 | 493-33 | & | © | 610 451.0 61.0 = FUFAAER
83 57 ARE 493-37 % | 3900 390.0 = FYFAAER
84 57 ARE 407-1 | 407-1 | & | & | 1680 168.0 168.0 e TELER
85 57 ARE 459 459 | w | ® | 10810 | 10810 | 108L0 | HA 764
86 57 AR%E 458 458 | ® | ® | 19170 | 19170 | 1917.0 e TELER
87 57 AR%E 491-5 | 491-5 | T+ | | 1480 148.0 148.0 e FUFAAER
88 57 AR%E 457 457 | & | ® | 16500 | 16500 | 16500 e FENER
89 57 ARE 456 456 | w | ® | 10610 | 1,060 | 10610 e FENER
90 57 ARE 454 454 | w | ® | 10250 | 10250 | 10250 e TELER
91 57 ARE 455 455 | 9| | 18210 | 1,8210 | 1,821.0 e TEMER
92 57 AR%E 453 453 | w | | 16360 | 16360 | 16360 e TELER
93 57 ARE 434-3 | 434-3 | & | & | 490 49.0 49.0 e TELER
94 57 ARE 450 450 | w | ® | 13220 | 1,3220 | 1,3220 e TEMER
9% 57 AR% 448 448 | ® | ® | 15340 | 15340 | 15340 e TELER
9% 57 AR%E 447 447 | & | ® | 20560 | 20560 | 20560 e TELER
97 57 AR%E 446 46 | & | @ | 8300 830.0 830.0 = TELER
98 57 AR%E 445-1 | 445-1 | & | & | 360 385.0 385.0 = TELER
99 57 AR%E 444-1 | 444-1 | & | @ | 6440 644.0 644.0 e TELER
100 57 AR%E 2595 | A459-5 | 91 | 9 | 12320 | 1,2320 | 12320 e SRR
101 57 AR%E 449-2 | 449-2 | A | A | 14360 | 14360 | 14360 e TELER
102 57 AR%E 24596 | A459-6 | 9 | 9 | 13640 | 1,3640 | 1,364.0 e SRR
103 57 AR%E 493-23 | 493-23 | & | & | 1,810 | 18310 | 1,810 e TELER
104 57 AR%E 493-22 | 493-22 | & | ® | 16830 | 16830 | 16830 e TELER
105 57 AR%E 493-17 | 493-17 | & | & | 16070 | 16070 | 1607.0 e TELER
106 57 AR%E 432 432 | A | A | 22810 | 22810 | 2281.0 e SRR
107 57 AR%E 493-21 | 493-21 | & | & | 16500 | 16500 | 1,650.0 e TELER
108 57 AR%E 493-18 | 493-18 | ¥ | ® | 12230 | 12230 | 1,2230 e TEMER
109 57 AR%E 493-20 | 493-20 | & | ® | 17790 | 17790 | 1,779.0 e TELER
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110 57 ARE 493-19 | 493-19 | & | ¥ | 31400 | 3,1400 | 3,400 e TELER
111 BT ARE 42 26 | A | A | 17160 | 17160 | 1,716.0 = ZTENER
112 57 AR%E 427 427 | A | A | 10640 | 1,0640 | 1,064.0 e FENER
113 57 AR%E 428-3 | 428-3 | ® | ® | 17220 | 17220 | 1,7220 e TELER
114 57 AR%E 414 414 | & | ® | 19540 | 19540 | 19540 = SRR
115 57 AR% 424-2 | 4242 | A | A | 590 598.0 598.0 = TELER
116 57 AR%E 425-1 | 425-1 | A | A | 4570 457.0 457.0 e TELER
117 57 AR%E 428-2 | 428-2 | ® | ® | 1,8080 | 1,8980 | 1,898.0 =3 TELER
118 57 AR%E 424-1 | 424-1 | A | A | 5450 545.0 545.0 e TELER
119 57 AR%E 422 22 | A | A | 580 582.0 582.0 e TELER
120 57 AR%E 423 423 | A | A | 12690 | 12690 | 12690 =3 TELER
121 57 ARE A59-7 | A59-7 | 91 | @ | 509.0 509.0 509.0 = TELER
122 57 ARE 420 20 | A | A | 14210 | 14210 | 14210 e TELER
123 57 AR%E 421-1 | 421-1 | & | A | 6140 614.0 614.0 = SRR
124 57 AR%E 419 419 | A | A | 8070 807.0 807.0 = TELER
125 57 AR%E 418 418 | A | A | 6940 694.0 694.0 e TELER
126 57 AR%E A459-8 | A59-8 | 2 | 2 | 51860 | 51860 | 5186.0 = SRR
127 57 AR%E 493-25 | 49325 | ¥ | ® | 1,1230 | 1,1230 | 1,123.0 e SRR
128 57 AR%E 492 492 | ® | ® | 10280 | 10280 | 10280 e TELER
129 57 AR%E 382 382 | ® | ® | 14480 | 14480 | 1,4480 = SRR
130 57 AR%E 493-29 | 49329 | = | w | 1,1220 | 1,1220 | 1,1220 e SRR
131 57 ARE 384-1 | 384-1 | & | & | 9550 955.0 955.0 = TELER
132 57 AR%E 493-2 | 493-2 | & | ¥ | 13320 | 13320 | 1,3320 = SRR
133 57 ARE 493-4 | 493-4 | & | @ | 1,0040 | 1,0940 | 1,094.0 e TELER
134 57 AR%E 491-7 | 491-7 | T+ | | 17740 | 18200 | 1,774.0 = FUFAAER
135 57 AR%E 491-9 | 460 46.0 = FUFAAER
136 57 ARE 493-27 | 49327 | = | ¥ | 14600 | 14600 | 1,460.0 = 718 7 g -
137 57 ARE 493-10 | 493-10 | & | & | 10150 | 10150 | 10150 e TELER
138 57 ARE 493-11 | 493-11 | & | & | 9980 998.0 998.0 = TELER
139 57 AR%E 493-15 | 493-15 | & | & | 2840 284.0 284.0 e TELER
140 57 AR%E 493-14 | 493-14 | & | & | 14550 | 14550 | 14550 e TELER
141 57 ARE 493-16 | 493-16 | & | & | 7930 793.0 793.0 = TELER
142 57 ARE 493-7 | 493-7 | ® | © | 22120 | 22120 | 22120 e TELER
143 57 ARE 493-9 | 493-9 | & | ¥ | 10550 | 10550 | 10550 e TELER
144 57 AR%E 493-8 | 493-8 | ® | ® | 1,1740 | 11740 | 1,1740 e TELER
145 57 AR%E 493-6 | 493-6 | © | ® | 1,1640 | 1,1640 | 1,164.0 e TELER
146 57 AR%E 493-5 | 4935 | & | & | 9160 916.0 916.0 e TELER
147 57 AR%E 493-3 | 493-3 | & | & | 2450 245.0 245.0 e TELER
148 57 ARE 387-2 | 3872 | A | A 10.0 10.0 10.0 e TELER
149 57 ARE 386-2 | 3862 | 7 | A | 2640 264.0 264.0 e TELER
150 57 ARE 410 410 | & | & | 6680 668.0 668.0 = TELER
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Ll A 5 ad (m) W A 2frd
5 2AA 4 o] 31
wg |gxlag W CEY Wy | A ESS | 24 | A
2 A 157,262.0 | 159,623.9

1 T BT 9 5,545.0 5,545.0 5,545.0 =ty S B 5

2 T BT 9 317.0 364.0 317.0 =

3 T BT = 8.0 8.0 8.0 R o] 33 A A

4 T BT = 193.0 193.0 193.0 R o] 33 A A

5 27 pRE 7 470 | 1470

6 T BT A 102.0 102.0 102.0 R o] g A A

7 T BT A 518.0 518.0 518.0 =ty RN

8 T BT A 29.0 29.0 29.0 =ty RN

9 T BT A 2,218.0 2,218.0 2,218.0 =ty RN
10 T BT A 9,827.0 9,827.0 9,827.0 =ty RN

11 T BT A 51.0 51.0 51.0 =ty RN
12 T BT 9 2,115.0 2,115.0 2,115.0 = TENER

e
13 EEE 13 o) 22,0 220 220 A% ffrgof/; e
2 5re] 2)

14 T BT = = 46.0 1.0 1.0 R o] g A A

15 T BT LS Y 298.0 17.0 17.0 k2] T AMdE 49-4
16 T BT = = 440 440 440 = TENER
17 T BT LS Y 155.0 155.0 155.0 R o] g A A

18 T BT = = 114.0 114.0 114.0 = TENER
19 T BT LS Y 104.0 104.0 104.0 R o] g A A

20 T BT z+ z+ 2,573.0 2,573.0 2,517.0 R o] g A A

21 T BT %l % 1,461.0 1,478.0 1,461.0 = TENER

22 T BT T | T 1,158.0 1,072.0 1,158.0 kIS 1,051

23 T BT o 240.0 240.0 240.0 =ty RN

24 T BT A 4,048.0 4,048.0 4,048.0 =ty RN
25 T BT 9 9,539.0 9,539.0 9,539.0 =ty RN

26 T BT %l 1,061.0 1,061.0 1,061.0 = RN

27 T BT 9 83.0 83.0 83.0 4%

28 T BT %l 6.0 6.0 6.0 = RN
29 T BT A 1,812.0 1,812.0 1,812.0 = TEIER
30 T BT A 127.0 127.0 127.0 =ty RN

31 T BT A 21.0 21.0 21.0 = TENER
32 T BT A 5,871.0 5,871.0 5,871.0 =ty TENER

33 T BT A 2,691.0 2,691.0 2,691.0 =ty TENER

34 T BT A 1,438.0 1,438.0 1,438.0 =ty RN

35 T BT A 802.0 802.0 802.0 =ty TENER
36 T BT A 2,969.0 2,969.0 2,969.0 =ty TENER

37 T BT 9 378.0 378.0 378.0 =ty TENER

38 T BT A 2,440.0 2,440.0 2,440.0 =ty RN

39 T BT A 12,348.0 12,348.0 12,348.0 =ty RN
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40 BT wEE | 1310-1[1310-1| % | = | 1160 | 1160 | 1160 | = SERER
| BT wRE 633 | 633 | = | = | 340 340 340 @ FEnER
2| BT 35E 934 | 934 |+ | | 690 69.0 TS A e
3| BT wRE -5 | 935 | A | A | 110 11.0 11.0 = TEmEY
4| ET wRE 1300 | 1309 | %= | %= | 460 460 460 2 SERER
5| BT ¥RE 62 | 62 | A | @ | 480 | 4530 | 430 | = FERER
6| BT ¥EE 631 | 631 | = | = | 6670 | 6670 | 6670 | = SERER
7| BT 3RE 6.1 | 641 | | ¢ | 1m0 | 1o | om0 | S [B71F SARA EEE
48| EF WEE 1303113031 | ® | A | 202460 | 28570 | 2880 | L
9| BT yRE 63-2 | 632 | ¥ | % | w0 | 500 | swo | S, [B71F AR EAE
50| BT 3% 643 | 643 | A | A | 780 | 7280 | 7280 A SERER
51| &7 w%% 5 | 56 | A | A | 15340 | 15340 | 15340 | = SERER
52| &7 wRE %53 | 53 | 4|4 630 63.0 63.0 e SERER
53| BT 3RE 552 | 552 | | | 5190 | 5190 | 5190 |, S [B71E AR EAE
54| BT wRE 51|51 | 4|4 | 7000 | 7000 | 7010 | = TEREY
5| BT ¥%% 544 | 544 | A | A | 500 | 5490 | 5490 | = SERER
6| BT 3RE 591 | 541 | | | 1650 | 1650 | 1650 |, S [B71F SR EAE
57| 5T 3% 543 | 543 |+ |+ | 20 20 20 |y oty 21T G FEE
58| BT BTE | A542| A542| F | T | 28O | 2080 | 28O |t 0w RN FEE
59| BT 3RE 1 | 431 | 3| | 400 | a0 | a0 | T [B71E ARA EAE
60| BT ¥¥E 435 | 435 | A | A | 10760 | 10760 | 10760 | = SERER
61| &7 w¥E 832 | 432 | 9| 9| L1740 | 11740 | 11740 | = SERER
62| BT 3% a4 | 434 || 300 | 300 | 3m0 | o | B7PE AR EEE
63| BT 3% 27 | 427 | A | A | 2210 | 220 | 2270 | = SEREy
64| BT BEE w02 | 02 |+ || 630 63.0 630 |y oty 271 2 ERE
65| BT BEE w6 | 426 | 7| | 20 | w20 | meo | L [B71EARA EAE
6| BT ¥FE 25 | 425 | A | A | 460 460 460 = FEwER
67| BT 3% 03| 403 | A | A | 1560 | 1560 | 1560 | = FEwER
68| BT ¥¥E 383 | 383 | A | @ | 3370 | 3370 | 3370 *L FEwER
69| BT ¥¥E 37-1 | 371 | A | A | 23040 | 23040 | 23940 | = FERER
0| BT ¥¥E %1 | 351 | A | | 760 760 760 = FERER
| BT ¥¥E 31| 331 [ 9| Q| 140 140 140 = dEEEE
2| BT uvE 20 20 || 9| 2280 | 20 | 2280 @;i‘ 73?:;‘2?;%‘”
73| BT BEE | 4519 | 4519| | | 7860 | 7860 | 7860 A FERER
M| BT 3% A57 | w57 | 9| 9| 22810 | 22810 | 22810 | % FERER
| BT ¥FE | 4582 | 4582 | 9 | 9 | 34370 | 34370 | 34370 | = FEwER
6| BT ¥FE | 4592 | 4592 | 9 | 9 | 87220 | 87220 | 87220 | = FEwER
7| BT RFE | 4601|4601 | 9| 9| 20960 | 20960 | 20060 | = FEwER
78| BT BFE | 4691|4691 | 9 | 9| 12050 | 12050 | 1,250 | = FEwER
9| BT ¥¥E 470 | A70-1| 9 | 9| 91230 | 98530 | 91230 | # FEwER
80| BT ¥¥E 267 | A67-1| Q| 9| 8360 | 11460 | 8360 = FEwER
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